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BATER v = +BE —— BifEiE A K iy Vz @ | FHEHE
aE HE (B’ | HE | AlE #
¥ % | &P |1 Yz (V) &fF |Zzmax | &fF |Zzkmax| S | BEGM (Irnax| &£ = o fh o ¥ H F ¥
4
(a¥) | (mA){ min typ max (Iz(md)| (Q) [lz(ma)| (Q) |IzmA)| (%/°C) |(umA)|{Vr(V)
RDZ. 4L e 500 2.33 2.6% |5 100 s 1k 0.5 [~1.5aV/°C |120 |1 Vzid @R 40ns THIE 3574
RDZ. 4M =5 200 2.30 2.80 |5 100 |5 -1.5mV/°C 120 i1 Vzid BB HE40ms THITE, Pzsn=20¥ 6104
RD2. 4P g W 2.3 2.6 {5 140 |5 ~2.0mV/°C 200 (1.0 |VZidBE#40ns THIE 237
RD2. 48 =k 200 2.30 2.60 |5 100 {5 -1.5mV/°C [120 |1 Vzid BBk 40ns THIE 4208
RD2. 4UH HR 150 2.2 2.6 J0.5 (350 |0.5 (1200 [0.05 |-0.8mV/°C (6.1 0.5 (VZ@REEAOnsTHIE, vy-7 VoikiE |420A
RD2. 4UM =k 150 2.30 .60 |5 100 |5 ~1.5mV/°C 120 |1 Vzid BB 40ns THIE 4204
RD2. TE =k 500 2.5 2.9 |20 100 |20 1k 1 -1.5mV/°C 100 |1 Vzi2 @B 40ns THIE, V2K 22 24C
RDZ. 7ES HE 400 2. 54 2.91 |5 110 |5 1k 0.5 [-1.5mV/°C [100 [1.0 |Vziz:@ZB40nsTHIE, VzER 532 79F
RD2. 7F HE 1% 2.5 2.9 |40 15 40 -2.0mV/°C |150 |1 VZid BB A0ns THIE, V2K 2 254
RDZ. THS EL 250 2.5 2.9 0.5 |30 [0.5 1200 [0.05 |-0.8mv/°C 0.1 |1 Ye-7 V2HEE, V2B B % 40ns TRIE 19F
RD2. 7L H® 500 2.54 2.91 |5 110 |5 1k 0.5 |-1.5mv/°C [100 |1 Vzi2 BE%40ns THIE, Pzsm=20¥ 3574
RDZ. M g 200 2.5 2.9 |5 110 |5 -1.5mV/°C j120 |1 VZIR BB R Ans TRIE, VeIX 52 6104
RD2. 7P HE 1w 2.5 2.9 |5 140 I -2.0mV/°C 150 |1.0 |VziRiBELOnsTHE 237
RD2. 78 5% 200 2.50 2.90 |5 116 5 -1.5a¥/°C 120 |1 VZi3 A B 40ms THIE, VX532 4208
RDZ. TUH HR 150 2.5 2.9 0.5 360 0.5 1200 [0.05 [-0.8mv/°C |0.1 |1 Vzid BBEAOsTENE, vv-7 Vit 4204
RD2. TUM HE 150 2.50 2.90 |5 110 |5 ~1.5mv/°C {120 |1 Vzi3E B % 40ms THIE, VZEHIX 532 4204
RD3. OF HR 500 2.8 3.2 20 80 20 1k 1 ~2.0m¥/°C |50 1 VziL A BEAOns THIE, V2R 532 24C
RD3. OES HEg 400 2.85 3.22 |5 120 5 1k 0.5 -2.0mV/°C |50 1.0 [VZidERE40ns THE, V2R X 22 T9F
RD3. OF =4 W 7.8 3.2 |40 15 40 -2.0mV/°C 100 |1 Vzit ERHA0ns TRIE, V2REX 52 254
RD3. DHS HE 250 2.8 3.2 (0.5 |30 [0.5 [1200 [0.05 |-0.85mv/°CJ0.1 |1 Yy-7" VeBiE, V2B BB AOns THITE 79F
RD3. 0L =k 500 7. 85 3.22 |5 120 |5 1k 0.5 [-2.0mV/°C (50 |1 Vzid EE% 40ns THISE, Pzsn=20¥ 3574
RD3. OM HE 200 2.8 3.2 5 120 5 -2.0m¥/°C |50 1 VzId BB A0ns THIE, VZHIIR 432 6104
RD3. 0P =k 1w 2.8 3.2 |5 140 (5§ -2.0mV/°C {100 [1.0 |Vzi3;E@%AOns THIE 237
RD3. 0S HER 200 2.80 3.20 5 120 5 -2.0mV/°C |50 1 VZiL @B AOns CHIE, V2K 432 4208
RD3. OUH H®R 150 2.8 3.2 [0.5 |360 0.5 {1200 |0.05 |-0.85mV/°C[0.1 |1 V23 B RE40ns THIE, Ve-7 V2iiik 4204
RD3. OUM Sk 150 2. 80 3.20 |5 120 |3 -2.0mv/°C [50 |1 Vzid BB % 40ms THRIGE, VX 22 4204
RD3. 3E B8 500 3.1 3.5 |20 70 20 1k 1 -2.0mV/°C |20 1 Vzid B BE 40ns THIE, VZAK 22
RD3. 3ES [k 400 3.16 3.53 |5 120 |5 1k 0.5 [-2.0mV/°C |20 [1.0 |VzIi3BEHE40ns THITE, V2HIX 432
RD3. 8F =k W 3.1 3.5 40 15 40 -2.5mV/°C |80 1 VZIid BBk d0ns THRIE, VZHIIX 22
RD3. 3HS H= 250 3.1 3.5 0.5 30 0.5 1200 [0.05 |-0.8mv/°C (0.1 |1 Yv-7" Ve R, V2B R K 40ns TAIE
RD3. 3L HE 500 3.16 3.53 {5 120 [$ 1k 0.5 |-2.0mV/°C (20 |1 Vzi2 BB HE A0ms TRITE, Pzsn=20W
RD3. 3M =k 200 3.1 3.8 [ 130 5 -2.0mY/°C 120 1 Vzid @B % 40ms TR, VZRX 472
RD3. 3P =k v 3.1 3.5 5 140 5 -2.5mv/°C |80 1.0 IVzid & ions TR
RDS. 38 H® 200 3.10 3.50 |5 130 |5 -2.0m¥/°C (20 |1 Vzi B ER40ns THRITE, VM [X 532
RD3. 3UH H® 150 3.1 3.5 0.5 |30 [0.5 1200 [0.05 |-0.9mv/°C 0.1 |1 Vit BB AOns TR, vr-7 Voth ik
RD3. JUM =k 150 3.10 3.50 s 130 |5 -2.0m¥/°C (20 1 Vzid BB 40ns THRIE, VZIX 22
RD3. 6E g1 500 3.4 3.8 20 60 20 1k t -2.0mv/°C |10 1 VBB % AOns TR, VX 52
RD3. 6ES HR 400 3. 47 3.83 |5 120 5 1.1k 0.5 -2.0mv/°C |10 1.0 |VziiBEE s TRITE, V2K 5} 2
RD3. 6F 0= 1w 3.4 3.8 140 15 40 -2.5mV/°C 180 |1 VZIR BB % A0ns TRIE, V2HIK 572
RD3. 6HS 2k 250 3.4 3.8 (0.5 |370 [0.5 1500 [0.05 |-0.9mV/°C (0.1 (2 Vv-7" V2B, Vz i3 IR 40ns CRIE
RDS. 6L EE 500 3.47 3.83 |5 120 |5 1100 0.5 [-2.0mv/°C [10 |1 Vzi$ BB # 40ms THRITE, Pzsn=20¥
RD3. 6M =k 200 3.4 3.8 5 130 5 -2.0mV/°C {10 1 V23 BB %R A0ms TR, V2K 532
RD3. 6P =k 1% 3.4 3.8 |5 140 (5 -2.50/°C (60 [1.0 |[VziLBEE4Ons THIT
RD3. 6S B 200 3.40 3.80 (5 130 5 -2.0mV/°C 10 1 VZidEE % A0ns TR, V2K 432
RD3. 6UH k] ilso 3.4 3.8 0.5 /370 (0.5 1200 [0.05 |-0.9mV/°C 2 VzId B BEAOns THT, vv-7" V2 Rk
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